rvs = Tabl e[
Random[Uni fornDi stri bution[{0O, 1}]], {10000}17;

Lengt h[rvs]
10000

w- << Hi stograns’
Hi st ogram[rvs]
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n = 30;

k = 1000;
di st = Exponential Di stribution[1];
rvs = Tabl e[Random[di st ], {k}, {n}];
ms = Map [Mean, rvs];

Hi st ogram[ms]
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Mani pul at e[

n = nnn;

k = 1000;

dist =UnifornmDi stribution[{0, 1}];
rvs = Tabl e[Random[di st ], {k}, {n}];
ms = Map[Mean, rvs];

H st ogram[ms]

, {nnn, 1, 30, 1}]
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Mani pul ate[
Plot [bSin[ax], {X, 0, 2x}, PlotRange » {-5, 5}]

{{a, 1}, 0, 20},
{{b, 1}, 0, 3}]

: ]
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